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Bospceke |116[ 12 1.1 [(2)] 0.1 0.1 10C3+/13 95 10.55| 1A 31 | 40 390 2| CEP CTOBOYpOBI IIKiAHUKH 520 HE BHUABJIEHO
Bosipceke | 119 7 | 3.0 [(1)[ 0.3 0.3 7C32031I'3+BI'JI 70 10.70| 16| 29 | 30 370 2 | CCP | 6oitoBi aii cTOBOYpPOBI IIKiXHUKU 420 HE BUSIBJIEHO
Bosipceke |165( 3 [ 0.8 [(2)[ 0.2 0.2 10C3+/13 10010.60| 1 [ 27 | 36 360 | 2| CCP | 6oiioBi nii cToBOYpOBi IIKiJHUKU 270 HE BUSBJIEHO
Bosipceke |195( 8 [ 10.6[(1)] 0.3 0.3 10C3+/13+B311I 90 [0.60(1A| 30 | 40 415 2 | CCP TIOXKeXa 400 HE BUSABJIEHO
Bosipceke | 19513 0.3 |(1)] 0.1 0.1 8C3(59)2C3(85) 59 [0.70| 1A]| 23 | 24 350 2 | CCP NOoXexXa 540 HE BHSBJICHO
Pazom 15.8 1.0 1.0
Pazom CCP 1.0
ITneceupke [267| 1 [ 5.3 [(1)[ 0.2 0.2 10C3+IYUP+/13+KJITT+KJIT+B31I | 90 [0.65| 1 | 28 | 40 410 (2] CCP CTOBOYpPOBI ILIKi JTHUKH 370 HE BUSABJIEHO
ITneceuske |412| 1 [ 17.5((3)| 0.9 0.9 10C3 79 (050 1| 26 [ 28 305 2 | CCP CTOBOYPOBI IKiTHUKH 279 HE BUSABJIEHO
ITneceuske | 555(10( 1.8 [(1)] 0.3 0.3 9C31/13 120{0.40| 1 | 31 | 48 250 2 | CCP CTOBOYpOBI HIKiTHUKH 157 HE BHSBJICHO
Pa3zom 24.6 1.4 1.4
Pazom CCP 1.4
Beboro | [ 40.4 24 | 24 5 OVPCB TN
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